
６年

１２ 
(３) 

角柱、円柱の体積 

  年   組 
 
名前 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

取り組んだ日   月   日 

１ 体積を求めましょう。 

 

①                         ＋ 

                                   式  

                   ２×２×４＋４×８×４＝１４４ 

 

 

                  答え（  １４４㎤  ） 

 

 

 

 

 

 

 

②                                           ― 

式  

                  ４×４×3.14×４－２×２×3.14×４＝150.72 

 

 

                  答え（  150.72㎤  ） 

 

２㎝ ２㎝ 

４㎝ 

４㎝ 

８㎝ 

２㎝ 

４㎝ 

２㎝ 

６㎝ 


